Subject: Re: filled usersym
Posted by David Fanning on Wed, 18 Oct 2006 15:13:30 GMT

View Forum Message <> Reply to Message

Klemens Barfus writes:

| thought noclip=0 is the default setting ?
| added it to the plot command and also to the oplot commands, but it
does not solve the problem. But | have to mention that the problem

>
>
>
> arises, when | create a triangle. When | use a rhomb it works fine ....

Well, I don't know. All the filled triangles in SYMCAT seem

to work fine:

IDL> plot, findgen(11)
IDL> plots, 10, 3, psym=symcat(19), symsize=4

Do you suppose something is wrong with the way you
calculate the triangle?

Cheers,

David

P.S. You can find SYMCAT here:
http://www.dfanning.com/programs/symcat.pro

I-Z;avid Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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